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CHAPTER OUTLINE:       
I. Preliminary topics

A. Operating Cycle

B. Expansion of the Horizontal Model: Statement of Cash Flows column  

II. Cash and Cash Equivalents

A. Balance sheet valuation — amount available

B. The Bank Reconciliation as a Control Over Cash

1. Timing differences

a. Deposits in transit

b. Outstanding checks

c. Charges for bank services

d. Interest added to the account

e. NSF checks

2. Errors

3. Adjustments required

III. Short‑Term Marketable Securities

A. Reasons for investing in debt and equity securities

B. Balance sheet valuation

C. Interest accrual

IV. Accounts Receivable

A. Balance sheet valuation — net realizable value

B. Bad debts/uncollectible accounts

1. Expense recognition/valuation adjustment

2. Write-off of uncollectible accounts


C. Cash discounts 



1. Credit terms

2. Cash discounts subtracted from revenues in income statement

V. Notes Receivable

A. Comparison with accounts receivable

B. Interest accrual

VI. Inventories

A. Alternative generally accepted practices exist

B. Flow of costs from inventory to cost of goods sold

C. Inventory cost flow assumptions

1. Specific identification

2. Weighted-average cost

3. FIFO

4. LIFO

D. The impact of changing costs (inflation/deflation)

E.  Selecting an inventory cost flow assumption

F. Inventory accounting system alternatives

1. Perpetual

2. Periodic

G. Inventory errors

H. Balance sheet valuation at the lower of cost or market

VII. Prepaid Expenses and Other Current Assets

A. Prepaid insurance

B. Other prepaid items

TRUE/FALSE:

____  1.
Current assets can be defined as cash or those assets that are immediately collectible on


account.

____  2.
Many major companies invest their excess cash in marketable securities in order to earn higher returns than would otherwise be possible if the excess cash was placed in demand deposits at the bank.

____  3.
Proper cash management involves expediting cash receipts whenever possible (so long 
               as early collection policies do not interfere with the company's ability to sell its products) 


and deferring cash payments whenever possible (so long as penalties for late payments


are avoided).

____  4.
The bank reconciliation is a process of comparing the most recent balances shown on the


bank statement and in the cash account in order to verify that all differences have been


identified and properly accounted for.

____  5.
All reconciling differences between the bank (statement) and book (cash account)


balances result from timing differences and errors made by the bank.

____  6.
When a firm receives notice on their bank statement that a customer has bounced a check


(an NSF check on the bank statement), that account should be written off as a bad debt.

____  7.
Errors made by the bank are reconciling items in the bank reconciliation process, but do


not result in an adjustment to the firm’s cash account.

____  8.
Petty cash funds allow firms to make payments for incidental items (such as postage


stamps, traveling costs, and delivery charges) with cash, rather that writing checks for


these items.

____  9.
An example of an administrative control in a grocery store would be: "Cashiers are not


allowed to honor personal checks presented by customers in amounts over $20 without


management approval."

____10.
Credit terms of 2/10, n60 represent the same interest rate to the purchaser as do the 


terms 1/10, n30.

____11.
Since a 2/10, n30 cash discount offered by a seller of merchandise allows the purchaser 


to save 2 percent, the cost of the discount taken by the purchaser should be reported as an


expense on the books of the seller.

____12.
The Allowance for Cash Discounts account is reported on the balance sheet as a contra


account to Accounts Receivable, and is included with the balance of the Allowance for


Bad Debts account for financial reporting purposes.

____13.
Sound cash management policies suggest that a firm is better off to borrow cash at a 


10 percent interest rate than to miss the opportunity of taking a 2/10, n30 cash discount.

____14.
On the date on which a past-due account receivable is reclassified as a note receivable, 


total assets and net income do not change.

____15.
The adjusting entry to accrue interest earned on a note receivable increases in both assets


and liabilities.

____16.
The specific identification method for reporting inventory costs is the required method


for firms that sell "big ticket items" for large dollar amounts (as long as the units sold can


be easily identified).

____17.
First-In-First-Out (FIFO) and Last-In-First-Out (LIFO) are terms used to describe


alternative approaches of assigning dollar amounts to Cost of Goods Sold.  Ending

Inventory amounts could be determined with a similar logic, such as Last-In-Still-Here


(using FIFO) or First-In-Still-Here (using LIFO).  [Reflect on this.]

____18.  The LIFO inventory cost flow assumption is not permitted under IFRS.

____19.
FIFO is often criticized for reporting "phantom profits" during inflationary times because


replacement costs of inventory items are higher than the costs assigned to cost of goods


sold on the income statement.

____20.
FIFO achieves the most appropriate balance sheet valuation during inflationary times


because the most current costs are shown as ending inventory.

____21.
Changes in the inventory cost flow assumption can be made from year to year at the


discretion of the reporting entity by making an annual election of either FIFO, LIFO,


weighted average, or specific identification.

____22.
Since the perpetual inventory system keeps track of the amounts and quantities of


inventory at all times, there is no need to ever take a physical inventory count when 


using a perpetual system.

____23.  An error in the ending inventory of this year will have an equal but opposite effect on net 
               income of next year, assuming that next year’s ending inventory is counted correctly.   
EXERCISES:

	1.
	The inventory records of The Kissner's Consulting Group reflected the following information for the year:

	
	

	
	                                                                                                     Number        Unit

Date          Transaction                                                                of units        Cost

  1/1           Beginning Inventory………………………….              12             $40

 2/12          Purchase………………………………………                8               45

 4/15          Sale……………………………………………
          15                -

 5/17          Purchase………………………………………              10               46

 5/19          Sale……………………………………………               5                -  

 9/28          Purchase………………………………………              15               50

 11/2          Sale……………………………………………               5                -  

Required:  

Using the periodic inventory system, determine the dollar amounts to be assigned to Ending Inventory and Cost of Goods Sold under each of the following methods:

                                                                                                        Ending           Cost of

                                                                                                       Inventory      Goods Sold
Weighted-Average ………………………………… 

   $ __________    __________

FIFO……………………………………………….


      __________    __________

LIFO……………………………………………….


      __________    __________



	
	

	2.
	On September 30, 2013, Learned Partners, Inc. received its monthly bank statement, and the             bookkeeper has gathered the following items of information:

	
	

	
	The company makes all payments by check and deposits its receipts in the bank on a daily basis.

· The bank statement contained three adjustments to Learned's account:

1. $85 for an NSF check written by Hayes Industrial.

2. $7 for a bank service charge.

3. $265 for a note receivable collected by the bank on behalf of Learned, including $250 principal and $15 interest.

 Outstanding checks as of September 30 amounted to $722.

 Deposits amounting to $347 did not appear on the bank statement.

 The balance of the Cash account in the general ledger as of September 30 was $4,544.

 The ending balance on the September 30 bank statement was $5,092.

	
	

	
	Required:  

Prepare the bank reconciliation as of September 30, 2013, and the appropriate adjusting entry(ies) related to the reconciliation. 

	
	

	
	                                                  Learned Partners, Inc.

                                                    Bank Reconciliation

                                   For the month ended September 30, 2013
From Bank Records                                            From Company Books
Indicated balance……………….
 $                   Indicated balance……………..  $

Add:                                                                    Add:

Less:                                                                    Less:

Reconciled balance……………   $                    Reconciled balance…………..  $                .   

	2.
	(continued)

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


	3.
	Dr. Branson shows the following accounts receivable balances by age category:

Age of Accounts                                                                                            Balance
0-30 days……………………………………………………………           $120,000

31-90 days…………………………………………………………..               45,000

91-120 days…………………………………………………………               15,000

More than 120 days…………………………………………………                 3,000

The Allowance for Bad Debts now shows a $3,000 credit balance.  Dr. Branson's 

accountant has studied his collection history and has suggested the following percentages for computing the estimates of uncollectible accounts:

	
	

	
	Age of Accounts                                                                                            Estimate of 

                                                                                                              Uncollectible Accounts
0-30 days……………………………………………………………            1 percent

31-90 days
…………………………………………………….........             3 percent

91-120 days……………………………………………………........          10 percent

More than 120………………………………………………………           40 percent

Required:  

Record the adjusting journal entry that will carry out the accountant's suggestion and the entry required to write off a $150 account owed by Mr. Beckett, which is now considered to be uncollectible.

	
	

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


SOLUTIONS:
	True/False

	
	
	
	
	
	
	
	
	

	1.
	
	F
	11.
	
	F
	21.
	
	F

	  2.
	
	T
	12.
	
	T
	22.
	
	F

	3.
	
	T
	13.
	
	T
	23.
	
	T

	4.
	
	T
	14.
	
	T
	
	
	

	5.
	
	F
	15.
	
	F
	
	
	

	6.
	
	F
	16.
	
	F
	
	
	

	7.
	
	T
	17.
	
	T
	
	
	

	8.
	
	T
	18.
	
	T
	
	
	

	9.
	
	T
	19.
	
	T
	
	
	

	10.
	
	F
	20.
	
	T
	
	
	


Exercises
	1.
	To answer any of these questions properly, you must first calculate the goods available for

sale both in units and in dollars, as follows:

                                                                                              Number      Unit         Total

Date         Transaction                                                          of units       Cost          Cost

 1/1           Beginning Inventory…………………….

          12            $40       $   480
2/12          Purchase…………………………………                   8              45            360
4/15          Sale………………………………………                 15               -

5/17          Purchase…………………………………                  10             46             460
5/19          Sale………………………………………                   5               -  

9/28          Purchase………………………………….                 15             50            750
11/2          Sale……………………………………….                  5                -                  .
                 Goods available for sale………………..   
           45                         $2,050  

This information is common to any inventory cost-flow assumption.  In other words, these

are the units and dollars to account for.  Your answers for the Ending Inventory and Cost of Goods Sold amounts must add up to 45 units and $2,050—otherwise, you have made a mistake!

	
	

	
	Weighted-Average:

$2,050 / 45 = 45.555 per unit

Ending Inventory     =    20 units * 45.555 =  $  911
Cost of Goods Sold  =    25 units * 45.555 =   1,139
                                       45 units                    $2,050

   

	1.
	(continued)

FIFO:

Cost of Goods Sold =   12 * $40 = $ 480

                                        8 *   45 =    360

                                        5 *   46 =    230 =  $1,070
Ending Inventory =        15 *  50 =    750

                                          5 * 46 =    230 =       980
                                        45                           $2,050    

LIFO:

Cost of Goods Sold =    15 *  50 =   750

                                       10 *  46 =   460 =   $1,210
Ending Inventory =        12 *  40 =   480                               

                                         8 *  45 =   360 =        840
                                       45                            $2,050




	2.
	                                                  Learned Partners, Inc.

                                                    Bank Reconciliation

                                    For the month ended September 30, 2013
From Bank Records                                         From Company Books
Indicated balance……………….. $   5,092    Indicated balance…………………  $   4,544

Add: Deposit in transit..…………         347   Add: Note collected by bank.……..          265

Less: Outstanding checks……….
       (722)    Less: NSF check…………………           (85)

                                                                                   Service charge……………..             (7)

Reconciled balance……………..  $   4,717     Reconciled balance………………  $   4,717 

	
	

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	Cash
	173
	

	
	Accounts Receivable 
	85
	

	
	Service Charge Expense
	7
	

	
	          Notes Receivable 
	
	250

	
	          Interest Income
	
	15


	3.
	Solution approach:  Compute the amount to be shown as the credit balance in the

Allowance for Bad Debts account:

                                                                                                  Percent               Amount
                                                                          Balance       Uncollectible      Uncollectible

     0-30 days………………………..


 $120,000    *         .01         =       $1,200

     31-90 days………………………


     45,000    *         .03         =         1,350

     91-120 days…………………….                    15,000    *         .10         =         1,500

     More than 120 days…………….


        3,000    *         .40         =         1,200

     Desired credit balance………….                                             

             $5,250
Since the Allowance for Bad Debts account now shows a $3,000 credit balance, the

adjustment is for an additional $2,250 ($5,250 - $3,000).

	
	

	
	Adjusting entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	Bad Debts Expense
	2,250
	

	
	          Allowance for Bad Debts
	
	2,250

	
	

	
	Write-off entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	Allowance for Bad Debts
	150
	

	
	          Accounts Receivable
	
	150
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